[ Efficiency vs vertpos |
- 0.2

2o.18F : : Z
@ E : : :
5.0.1657 : : :
§0.14[H- |- ; : :
o : 5 :
£ 0120 - E E E
0.1+ : : :
0.08F+ bt i
0.08{{({*1} "} : :
0.04H+-{--T-4t---- : :
0.02F - f- b b e
Eolod ool e
o 1.9 :
T i :
nd 1
0.95L

1072 10 1 10 0?
TP vertr (cr%)

t_specPlLess3-
t—s

To_TTrhew-r T

t TT | é’f u owpt
tTT efau owpt
% T ow,| {

erau ow

t_specPless]l-
E ess2-

B TTRE

DOM~™mKE

Tici B *mEE
Efficienq —— BM-MKE

ecPLess4-

~n 0.2
LT RS | S 1 S
%] C . ] . s .
Z0.16------ peeees AR P i R P
> . " . s .

20.14F : : : : :
g 014 T A T N o

(8] L . g . | .
£0.12------ [RERRE SEEERET r EEPR F | REPEPES PR

@ F : : : :
0.1------ LEREE e " ....... Beeeeen
0.08f -+ ' ' { I T
0.06f -+ SR
0.04f -+-wwieees ; e
0.02F - FRRRRE 1 SR ¢ SR RS

Ve PP NPT I I P P O

Ratio

H
T
::
 :
.
2

0¥/ —=20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
>

Q. 0.45
0.4
£0.35

Sim

o
w

efficiency

0.25

©
N

B
I
H
#:

05 =15 10 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


